HMEC - SERIES

ASSEMBLY INSTRUCTIONS FOR
HMEC - HME REAR COVER

REAR COVER

BOTTOM
CATCH BRACKET

REMOVAL INSTRUCTIONS:

1/4-20 X 3/8 SCREW
>
. 3
v
/ !
—--— .

BUL86263

REV. B

1/4-20 X 1/2" SCREW

e —-—f |

REAR PANEL SPACER

1/4-20 X 1-1/4" SCREW

TOP HALF SPACER ASSEMBLY (REF)

REAR PANEL SPACER

1/4-20 NUT\‘y
—--— 0

1/4-20 X 1-1/4" SCREW

@"7
1/4-20 X 1/2" SCREW

BOTTOM HALF SPACER ASSEMBLY (REF)

A) Using a phillips screwdriver, unscrew the 1/4-20 X 1/2" screw.

B) Remove rear pandl.

INSTALLATION INSTRUCTIONS:

A) Rest bottom catch bracket on frame.

B) Align holesto rear panel spacer

D) Using a philips screw driver install and tighten 1/4-20 X 1/2" screws.

TOOL BOX Phillips 7/16" Socket

,ﬁi Screw Driver Wrench

HAMMOND
MANUFACTURING

w www.hammondmfg.com

PAGE10OF1




